Subject: Re: costum stretch an image
Posted by ivitseva on Wed, 02 Dec 2009 09:15:34 GMT

View Forum Message <> Reply to Message

On Dec 1, 7:02 pm, jeanh
<jghasb...@DELETETHIS.environmentalmodelers. ANDTHIS.com> wrote:
>>  output=interpol(v,x,image)

>>  output=round(output)

>>  printf,3,'data type = 2'

Hi,

this is a typical data type error.
round() returns a long by default, so datatype=3

V VVVVYVYV

Jean

OH MY ....that was it! Such a beginners mistake, but in fact that's

what | am. THANK YOU ALL for answering, you made my day! And thanks
for David, his partitoning | will use for another application I'm

working on. | solved 2 problems at once, what a nice day.

All the best, Eva.
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